rere's tne table I0or our scores:

Score (P) Rank (C) C-5 R = 100%
55 1 0.5 2.5
56 2 15 75
56 3 2.5 125
57 4 35 17.5
60 5 45 225
60 6 5.5 27.5
61 q 6.5 32.5
61 8 7.5 375
62 9 8.5 425

SQQ 10 9.5 475

(72) 11 10.5 (525 '
72 12 11.5 D5
76 13 1255 62.5
76 14 135 67.5
76 15 145 725
77 16 15.5 775
T g 16.5 82.5
77 18 17.5 87.5
79 19 185 92.5 '
79 20 195 97.5
P = PL+ (PH — PL) (g}[ R]fz)

Owen & rack of R=50 what 15 Pep? (median)
> PL=6Y L = 42.S R:z=50

PH: 72 BH= 327 s0-42%5 ¢
Pz ¢y + [71:'(4).';'2.'3'-‘47.'&’ =63
R=RL+ (RH — RL)A=FPL) Pyo = 68

(PH—PL)
Glven o Fom'} (seore) of 77. 8 L«J\wf'ls

Lhe ramk Bor 4his seore
FL:77 IZL: 87.1/ P:728

pH=79 RH= 7725 72.8-77 _ o) s
R = 87.5 +(47.5-825) =2 = '

Parc= 773



